Unit 3 Lecture 1 Slide 31


The current slide shows the relationships between the entities paycheck and employee.


Reading the diagram from paycheck to employee we can say" Each paycheck must be for one and only one employee".  The optionality is mandatory as indicated by the continuous line and the degree is one and only one due to the absence of a crowsfoot.


Reading the diagram from employee to paycheck we can say "each employee may be the receiver of one or more paychecks" The optionality as indicated by the broken line is "may be" and the degree due to the crowsfoot is "one or more".

